(Alpliltihimle L tli [CX 1/6) Qule[s]tlilo[NK3]8] (Plale € ¥ 1]

385| 15% x 1,000 =
38b 15% of 4,000 =
38c 5% x 8,000 =

3g4| 65% x 2,000 =

wiwlwl _miyimli[nlimlal tihisl 1Clo 1 Julk]



(Alpliltihimle L tli [CX 1/6) Qule[s]tlilo[NK3]8] (Plale € J 2]

3ge| 15% of 1,200 =
3gf| 85% x 5,000 =
38g 55% x 6,000 =
3gh| 1°% of 2,900 =

wiwlwl _miyimli[nlimlal tihisl 1Clo 1 Julk]



(Alpliltihimle L tli [CX 1/6) Qule[s]tlilo[NK3]8] (Plale € 3]
38 45% of 6,000 =

38; 25% x 12,000 =

38k 95% x 900 =

33| 15% of 7,000 =

wiwlwl _miyimli[nlimlal tihisl 1Clo 1 Julk]



(Alpliltihimle L tli [CX 1/6) Qule[s]tlilo[NK3]8] (Plale € ] 4
38m 45% x 1,000 =

38n 75% of 4,800 =

0 _
380 35% x 10,000 =

38p 15% x 7,200 =

wiwlwl _miyimli[nlimlal tihisl 1Clo 1 Julk]



